


 

OlympicOlympicOlympicOlympic    
GB GB GB GB ---- USA USA USA USA           Parts list    

 
Part # 

 

 
Part name 

 
Material, dimensions 

 
Loose 
 

 
In bag 

 building instruction  01 - 
1 fuselage fibreglass 01 - 

1-1 engine mount  fibreglass 3 mm - 01 
1-2 servo tray V-tail plywood 4 x 53 x 47 mm - 01 
1-3 link support balsa 5 x 10 x 50 mm - 01 
2 wing foam core - balsa 02 - 

2-1 aileron foam core - balsa 02 - 
2-11 flap foam core - balsa 02 - 
24 wing joiner steel  ∅ 6 x 170 mm - 01 
2-2 wing fixing screw nylon screw M 4 x 30 mm - 02  
2-21 centering pin fibreglass ∅ 3 x 30 mm - 01 
2-25 wing pin beech dowel ∅ 4 x 40 mm - 02 
2-3 captive nut aluminium M4 - 02 
2-31 nut mount plywood 3 x 23 x 53 mm - 01 
2-4 servo mount polyurethan - 04 + 04 
2-41 wing servo cover ABS plastic - 04 
2-5 aileron-flap pushrod piano wire M2 - 04 
2-6 clevis MPJ 2110 - 04 
2-8 aileron horn fibreglass plate 1 mm - 02 
2-81 flap horn fibreglass plate 1 mm - 02 

3 V-tail balsa assembly 01 - 
3-2 V-tail screw steel M3 x 25 mm - 01 
3-21 screw bushing brass ∅4/3mm L = 12,5 mm - 01 
3-3 screw nut aluminium M3 - 01 
3-31 nut mount plywood 3 x 12 x 22 mm - 01 
3-5 V-tail link bowden ∅2 mm L=820mm, 

piano wire ∅0,8 mm L= 920mm 
02+02 - 

3-6 threaded link MPJ 2758 - 02 
3-8 horn fibreglass plate 1 mm - 02 
6 canopy fibreglass 01 - 

6-2 canopy fixing fibreglass ∅2 x 180 mm - 01  
6-21 mount plywood 1 x 6 x 12 mm - 02 

7 stickers  01  
 
RECOMMENDED RC EQUIPMENT: 
Radio :  5 channel + 7 channel (receiver) 
Servos : 2x HS 82MG ( for flaps ), 4x Topmodel PS1616 ( for ailerons and V-tail ) 
Motor :  Xpower XC 3514/12 
Controller: 40 – 50A ( JETI SPIN 44, Xreg 40 with switch BEC ) 
Spinner: ø 40/5 mm - order No.099T1559 ( order No.0201559 ) 
Prop:  Aeronaut CAM Carbon 10/6“ 
 
ATTENTION: 
This model costruction kit is not a toy and is not suitable for childern under the age of 14. 
Incorrect use of this material could cause material damage or person injury. You are fully responsable 
for your actions when you use this model. 
Fly at a safe distance from occupied zones. Be sure that no one else is using the same frequency as 
you. 






















